© 2024 General Motors

Make: Chevrolet Year: 2023 Model: Colorado

VIN: 1GCPTEEK4P1250794

C - Chevrolet>2023>4 - 14B - 14E43 - Colorado>06 - FRONT SUSPENSION-STEERING>(U406-018) 2023-2024 4E STRUT ASM/FRONT (2-INCH LIFT
721)

O = ﬁj Single Use Part

U406-018 08/16/2022




Make: Chevrolet

VIN: 1GCPTEEK4P1250794

© 2024 General Motors

Year: 2023

C - Chevrolet>2023>4 - 14B - 14E43 - Colorado>06 - FRONT SUSPENSION-STEERING>(U406-018) 2023-2024 4E STRUT ASM/FRONT (2-INCH LIFT Z2I)

Colorado

Call Part # Group H Description Usage Year Qty

1 85639234 07.345 ABSORBER, FRT SHK (Service Lane Part) 4E (43) (F46,221) 2023 - 2024 02

2 84674044 07.420 INSULATOR, FRT COIL SPR LWR (ACDelco #84674044) 4 (43) (WEN) (EXC ZR2) 2023 - 2024 02
(Service Lane Part)

3 86559128 07.412 R SPRING, FRT COIL (ACDelco #86559128) 4E (43) (7D8) 2023 - 2024 01

3 86559128 07.412 L SPRING, FRT COIL (ACDelco #86559128) 4E (43) (6D8) 2023 - 2024 01

4 85592672 07395 BUMPER, FRT SUSP STRUT (ACDelco #85592672) (Service 4E (43) (WEN.Z21) 2023 - 2024 0
Lane Part)

5 85581055 07.420 INSULATOR, FRT COIL SPR (ACDelco #85581055) (Service 4E (43) (WEN,Z21) 2023 - 2024 02
Lane Part)

6 85635823 07.395 MOUNT, FRT S/ABS (ACDelco #85635823) (Service Lane Part) 4 (43) (WEN,ZR2,Z21) 2023 - 2024 02
NUT, FRT S/ABS SHK ROD MT (M10X1.5) (25 OD) (M10 X 1.5)

7 11601783 07.347 (25 OD) (ACDelco #11601789) (Service Lane Part) 4(43) (BxCZR2) 2023 -2024 02

8 84601547 07.371 BOOT, FRT S/ABS (ACDelco #84601547) (Service Lane Part) 4E (43) (WEN,Z2I) 2023 - 2024 02




Make: Chevrolet

© 2024 General Motors

Year: 2023

VIN: 1GCPTEEK4P1250794

C - Chevrolet>2023>4 - 14B - 14E43 - Colorado>06 - FRONT SUSPENSION-STEERING>(U406-018) 2023-2024 4E STRUT ASM/FRONT (2-INCH LIFT Z2I)

Regulatory Information - Warnings displayed by Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

Part Description

- ABSORBER, FRT SHK (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- INSULATOR, FRT COIL SPR LWR (ACDelco #84674044) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- SPRING, FRT COIL (ACDelco #86559128)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- BUMPER, FRT SUSP STRUT (ACDelco #85592672) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- INSULATOR, FRT COIL SPR (ACDelco #85581055) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- MOUNT, FRT S/ABS (ACDelco #85635823) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- NUT, FRT S/ABS SHK ROD MT (M10X1.5) (25 OD) (M10 X 1.5) (25 OD) (ACDelco #11601789) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

- BOOT, FRT S/ABS (ACDelco #84601547) (Service Lane Part)
WARNING: Cancer and Reproductive Harm - www.P65Warnings.ca.gov

Model: Colorado



